AT 2 MRIBAARRAER] ARG
20214 20204
FH - R B2 - FWA B - s TRESR BRER ARER G% | TEER BRER ARBR 6%
X ERFH 3REAR 33 33 26 127
XEFER BERTH 2RBARN 14 14 10 1.40
XEFH ALBER 3REAR 26 26 20 130
XERH ALBER 2HBEHH 18 18 14 129
XEH O¥H ¥R 3REAR 20 20 12 167
XEPH B¥H O¥ER 2HEHH 18 18 12 150
NP OEH HEFER 3REAR 30 30 17 176
XEPH BYH HEFEK 2B R 14 14 13 108
SR ERERDIEFR 3RBEAR 40 40 16 250
SEH ERAROIEFH 2HEHR 25 25 13 192
XEH BEFR AREFER 3REAR 32 32 16 2.00
XPH BEEFR AREFER 2HBEHR 15 15 8§ 188
XEH BEFR RrE¥ER 3RBEAR 39 39 22 L7
XEH BEEFR RrE¥ER 2HEHH 11 11 10 110
XEH EEFH LBEFER 3RESR 31 31 W | — | — | — | —]
XEH BEEFR LBEFER 2HEHR 6 6 1.50
NP BEFR GBEFER 3REAR 17 17 2.13
NP BEEFR XEEYER 2HEHR 8 8 1.60
XFH BAERRIER 3REAR 35 35 17 2.06
XFH BAERRER 2/8BHR 25 25 11 227
XEH REEAEH 3REsD 21 21 13 162
XPH BEEKIEH 2#BEAH 25 25 16 156
BEFE 3REAR 100 99 23 430
BHEFE 28BEHH 38 38 9 42
BHEFE HF 1 HRER 26 26 10 2.60
EEFE FEFR 3MBAN 112 112 89 1.26
BEYH BEPH 2HBEHH 59 59 38 155
B EEEH 3IMBAN 126 126 112 1.13
BFE ARFH MR 3HME 124 124 78 1.59
EEE ARER MR ARBE ] 1 — 54 54 31 174
EPE EEEH 2HEHR 50 50 34 147
HERFH BOEPR XH3HER 158 157 59 2.66
HERFH BERPR 3REAR 25 25 13 192
BERFH HEPH 2RBEAT 24 24 13 185
EEPE ERLEH 3REAR 72 72 53 136
ERRFE ERSeFER XR48RE 52 51 33 1.55
EEPE ERSLEH 2#BHR 57 57 37 154
BRSPS JO-/NILRET 1 —ZEH 3REAR 40 40 32 125
ERFH JO-/NILR2T 1 —X$H XF 4 BRI 35 35 21 167
ERFH SO—/NILR2T 1 —ZEH 2RBEAH 37 37 26 142
SIMIETRE B2 - RN PRE BT 4B 14 14 7 200
SIMETREM B2 - BRERE BEERAR 14 14 1.56
SIMETRE B2 - RN TRE BRERAR 5 3 3.00
TR T FER MBEBWX 7 7ERI2 BT48B85 19 19 5 3.80
FIRETRE SEEERA T THR BEERHR 14 14 o 15| — | — | — | —]
SIRIETHE AEERA T 7R BRERAT 9 8 5 160 —
RWETYH BFBREERE ET4REE 1 1 — 1 13 13 4 325
RIHETHE BFEREERE BFERA 18 18 8 225
AIHETHE BT EREERE BRERA 15 15 2.50
FIRIETFE MWIF - ORTr I X572 BT 48B3 17 17 4 4.25
ST MY - ORT < o 22 BEERL 25 25 12 208
FIRIETFE MMIE - ORTr I X5R12 EREEAN 14 14 6 2.33
TR T AR AL FRE BT48EE 14 14 10 1.40
SIMETRE SRR P ERA 12 12 6 200
SIRETRE SRR BRERAR 8 8 4 2.00
SIMETRE BAERTYRE BT 4B 9 9 7 129
RRETRE RAERTYRE BEERAR 12 12 6 2.00
RIHETHE RAERTYRE BRERAR 7 7 3 233
HEFH HRPR 3REHR 58 58 49 118
HERPE HRPH 2HBAN 23 23 16 144 — | — |
HRSH II2=FTRIAY LR S 19 19 15 121 _— ]
HEFE II2-F4 TRIAY MER 2REAR 8 8 6 13| — | — | —
HRPH RREUTH 3REAR 28 28 25 112
HEFH RREUFEH 2RBEAH 9 9 8  LI3
BYE EESHEH 3REAR 36 36 33 109
BYE EESREH BY 3HR 21 21 14 150
BRI EMESREH s 9 9 8§ 113
BYEH ERENRER 3REAR 53 53 45 118
BRI EREMREH Y 3HRE 19 19 o 211
BYEH EREWRER HaEs 11 11 8 138
BYE ASKETH 3REAR 33 33 10 330
BYH ASKEYH BY 35 21 21 6 350
BYE RKKETH BIEs 15 15 4 375
BYE SHEES T LPH 3REAR 13 13 6 217
EFH BREXRIXTLEH =EF3RBEE 37 37 26 1.42
BYE SHEES T LPH 2HEHR 11 11 8 138
BYE BREESITLEH BIES R 4 4 3 133
EATE HREPR X 2 BRI 5 5 5 100
EIRATE HREER 3REsR 6 6 6 100
=111 1,758 1,754 1,111 612 610 319
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